AK = - - hom Lsg-Raum

U
pK = NK lin UR

~
7

U . . . ’ . /\ r' 4/\
K54 =0=,4+0 4= A+4+H0 A+4= A4+ 1+ 0 A+H 1
- .U

+HA=0+0=0=1+41€ nK

‘)

hom Lsg

| A~

:nj"i_H‘-j"i_n

n

aeU =5 \/U K

Lin

“47 — 717 lin unabh

[ (3

a|0

Wronski det %iﬂo

n-1=

a In-l

(()J:L’ln—l 75 0

n-1=




I AN UM{

basic

U
dim, BK =n

0

1% 4" free

JWEK/\OzZTﬂ d—=0= ;M:Z 1= .1=0
J

J P,

)

14" hull

U “ n ; n a an ;
1e §K=>ijzzi1jwzzi¢j1=;ﬂj1
J J .

1

L U ¢ LN L Sy
=>*I—Zﬂj"le K A 4-;&31:0@4—Zﬂj1:o=>4:24¢j1
- - J J

J .
%

) I 19
U%K" >t =12 1= [11.-1] - llﬁ ;]

47 nﬂjjj] gen sol




